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Questions

Bats and humming birds are called.

Which one of the following is not endotherm.

Which one of the following is an endotherm

The mechanism of evaporative cooling in respiratory tract of dog is known as

Most land mammals respond to cold by raising their.

Super cool cytosol, without ice formation, is caused by.

The incidence of uric acid kidney stones is.

High level of circulating calcium in the blood is called.

Abdomen has a peritoneal cavity, lined by a thin epithelium called.

Hemodialysis means

The incidence of calcium oxalate type stones are.

High degree of renal failure is also called as.

None surgical removal of kidney stone is called.

The active uptake of sodium ions in the loop of Henle is provided byt he action of hormone.

ADH affects which part of Nephron.

Answers Choice

A
. endotherms
. Heterotherms
. Mesotherms

A
B.
C.
D.
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Ectotherms

Bird
Amphibian
Mammal

. Flying insect

. Humming Bird

Birds
Bat
Reptiles

Panting

. Shievering thermogenesis

Thermoregulation

. vasodilation

skin
Furs
Bristles
Spines

. Heat shock proteins

Solutes
Unsaturated fatty acids
Enzymes

10%
15%
20%
70%

. Hypercalcernia

Osteomalacia

Hypogycemia
Hyperoxaluria

ectoderm
endoerm
Peritoneum

. Epidermis

Removing the blood

. Cleaning the blood

Storing the blood

. diluting the blood

40%
50%
60%
70%

uremia
Leukemia
Anemia

. Lithotripsy

. Dialysis
. lithotripsy

Uremia
Kidney transplant

. Insulin

Adrenaline

. Aldosterone
. Oxytocin

Walls of collecting duet
Glamerulus

Walls of loop of Henle
Proximal convuleted tubule
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the active uptake of sodium in the loop of Henle is provided by the actioon of hormone

the reabsorption of water in collecting tubules is under the control of.

A. Cortisone
B. Testosterone

D. Progesterone
A. Aidostenrone

C. Pressure filtration
D. Tubular secretion



